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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1)

6)

Qe WEYAN 3793 U9 -UR W A A= o)

Candidate must write first his / her Roll No. on the question paper
compulsorily.

atft a7 ga w1 afad #)

All the questions are compulsory.

Teddh WA I 1 ST~y 0§ o)

Write the answer to each question in the given answer-book only.

5 woat & =i wmoe E, 7 9 % I ouw |y @ fSE)

For questions having more than one part, the answers to those parts are to
be written together in continuity,

weA-uA < {7 7 s wuia 4 et wem 1 iz / s/ frenam 20w = v
F W9 T AE AH|

If there is any error / difference / contradiction in Hindi & English versions

of the question paper, the question of Hindi version should be treated
valid.

avA w21 7 23 4 s e g
There are internal choice in Q. No. 21 to 23.
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SECTION - A

agfaswedt STE:
1) Freww & s & w8 e 99w = Sy 3 fkaw -
Multiple Choice Question -

Write the correct option of answers of the following questions in the answer

book-
i) 9ig o HgF R ATt g A IEE g - [1]
(&) Freatfem (@) wgeEEtE
(|) ufeatis s (3) sgiem
Example of hormone which inhibits growth is -
(A) Gibberelin (B) Cytokinin
(C) Abscisic acid (D) Insulin

i) wies & W YR R weafa vd e & R ser 3

(1]
(31) wmimres () mteaws
(|) srgufEaws (3) weamtEws
Which part of brain is responsible for maintaining the posturel and balance
of body?

(A) Cerebrum (B) Fore - brain

(C) Cerebellum ~ (D) Mid-brain

S-07-Science ' h 1203
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iii) RrYyGﬁﬁmmmmmﬁwm - [1]

(31) e, T

(@) gliaw, den

(|) e, den

(8) Fiiaw, &0

External feature of genotype RrYy will be-
(A) Round, Green

(B) Wrinkled, Yellow

(C) Round, Yellow

(D) Wrinkled, Green

iv) i & Teftamuiia w1 32 2 [1]
(31) uaa FHat
@) g
(@) wwrEen
(7) TR
Example of renewable source of energy is
(A) Wind energy
(B) Petrol
(C) Coal

(D) Wood

S-07-Science 1203 [Turn Over
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V) TSR W el GRS YO Hehe g - B (1]
(%) wteq ' (@) =fm
(|) @urE (?) e
The old concept of water harvesting in Rajasthan is -
(A) Khadin (B) Bundhis
(C) Bandharas (D) Kulh

vi) fouw =, s () &1 am Em [1]

SIS -
\\ X

%
D,
anmafea femon - Y/ quEfa o

\\\'..,v g g gy g iy
A ERER L Vas "CHPTRETER

(a1) 60° @) 90°
(®) 45° () 30°

In the given figure, the value of angle (x) will be :

Normal

Incident ray ™ Reflected ray

VAV O 2N G 0 0 v o S B O i i i
(A) 60° (B) 90°

() 45° (D) 30°
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vii) it R afvmi feta e g
(31) Wt AtEAr

(|) Yaelt 1 3IRR (|1EH)

(@) = o i wrewd gl
(7) ﬁﬁ@?ﬁumiﬁra—l@-ﬁf

The muscles of the iris controls

(A) Optic nerves

(C) Size of pupil

[1]

(B) Focal length of the eye lens
(D) Shape of crystalline lens

viii) kwh fra ifoes wf¥t =t amees 22

(31) wfem
(®) wam

(=) foega ==t
(3) a=

Which physical quantity has kwh as its unit?

(A) power

(C) momentum

(B) electric energy
(D) force

ix) m%ﬁmﬁﬁﬁaﬁqwﬁgﬁqﬁwﬁgﬁa(y)ﬁmﬁﬁl

+ E |— <
+@‘—— F fw-.f-x~,f~f¢,—1-(.j__,
y s
e
(37) HAoedrex @) Fh
(@) Fgadw (@) andrex

(1]

[1]

Identify the device (y) in the given electric circuit related to ohm's law

.8 (O

o

T

<

N
y

(A) voltmeter

(C) electric cell

S-07-Science
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(B) key
(D) ammeter
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X) SR E S % s weh ww wg @ whe g - | [1]
() sm=mm () wamm
(W) Rt (3) faRrmE
The process of black coating on silver in environment is -
(A) Reduction (B) Corrosion
(C) Rancidity (D) Double displacement
Xi) Al, Fe @i Zn # siftfraniiea & a@ sem v 2 - [1]
(X) Fe<Zn<Al. (&) Fe< Al<Zn
(§) Al< Fe <Zn () Al<Zn<Fe
The correct ascending order of reactivity of Al, Fe and Zn is -
(A) Fe<Zn< Al (B) Fe < Al «Zn
(C) Al<Fe<Zn (D) Al<Zn <Fe

xii) CH,COOH+CH,-CH,0H == . [A] + H,0 swa aifwfran & 9iffes [A] 2 -
(1]
(%) CH;-CH,-O-CH,-CH;
(@) CH,-CH,-COOCH,
(|) H-—(HZ—O—CHZ—CH:—CH3
O
(®) CH,-C-O-CH,-CH,
O
CH,COOH+CH,-CH,OH A% . [A] + H,0 Compound [A] in above
reaction 1s -
(A) CH~CH~0-CH-CH,
(B) CH,-CH,-COOCH,
(®) H—%?—O-—CHz—CHz—CH3
O
(D) CH3—|(;—O—CH2—CH3
O

1203

S-07-Science




2) fen vl i gfd Hifk -
Fill in the blank places -

i) TmAMTEITERdm R e e gl [1]

The saliva contains an enzyme called salivary

i) e waea & o ag R 6 39 TR Iam gt @il HHANF 0 A T N F
........... M - | [1]

Advantage of vegetative propagation is that all plants produced by this are
genetically to the parent plant.

i) ol S <A we g smaa R W W, " g 2 1]

Substances that are decomposed by biological processes are called

iv) e % O S H e grar 2 [1]
Like poles of magnet with each other.
{
!
v) T b sl st e T 2l [1]

Chemical name of acid present in vinegar is

vi) angﬁmamﬁmﬁ?ﬁaiaﬁ'éﬁw@maa‘fﬁﬁw .............. 2l 1]

Number of elements present in third period of modern periodic table are

S-07-Science 1203 ' [ Turn Over
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3)  faergmcas 99 (S9El 6 ST TS Yiee A1 U Ui o faRau))

Very short answer type question (Answer the question in one word or in one -
line.)

1)  FE 6 TR et s frafaft e e 22 [1]

Which mechanism regulates the action of a hormone?

i) SgEER Yehid & 918 Uk Site =61 4 faian) [1]

Write name of an organism that exhibits multiple fission.

iii) SHamdt 399 & IUE A 21 =relt vk g fafan [1]

Write one disadvantage of using fossil fuels.

1v) UIGa & STAGHUESH ol Ueh 3401 S0 [1]

Give one example of abiotic component of ecosystem.

v) @ difes @i P = 50 @ Q = 8 x 10* Q x m % TR 9 ot ol e
R Pa Q% ¥ um fofam) . (1]

Write the corresponding values of two physical quantities P and Q for
which the length of conductor P = 5Q and Q = 8 x 10~ Q x m are reduced
to half.

Cvi) @ dEhE o T U - g v w6 T e (1]

Why two magnetic field lines do not intersect to each other?

1203
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vil) forelt fergm ammardt ufimferent & Wier va 38 9l daehia a9 Taet = w=hid sa 5

foru fa= amrgu)

[1]

Draw diagram to show lines of magnetic field inside and around a current

carrying solenoid.

viii) Igretreator sfufrar =t uitafua Fifsm|

Define neutralisation reaction.

ix) Ny svad Faa feiag)

Write modern periodic law.

x) CuO+H, = _,Cu+ RO
IR Afufshan # sTu=ifad g1 9T stieres w1 A faRau)
CuO + H, HaNCR +,0

Write the name of reactant reduced in above reaction.

xi) EEHA, {1 aun difgan d @ g’ wer e v AW feifan)

(1]

1] -

(1]

[1]

Write name of hardest substance among iodine, diamond and sodium.

xii) o i e firg wreen @ Rift B

Draw electron dot structure of methane.

1203
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SECTION -B

TLITUNS NA-N9 G0 04 | 16 % I Imgfarat | foiRae | (vsq dimn 50 71=1) .
Short answer type question-Write the answers of question number 04 to 16 in
answer book (Word limit 50 words)

4)

5)

6)

7)

8)

9)

S-07-Science

SER IR iR E [2]

Define life processes.

ot gt st gitenfye Hifse qen saen €t Igewn fafag) [1+Ya+Vo=2]

Define unisexual flower and write two examples of it.

AT WX WRATERUT o STHAUT o1 ATHiTeha o 5150 [2]

Draw a labelled diagram of the germination of pollengrains on the stigma.

qaterut & fafts weeni & e sl & veg = waaEEn) [2].

Explain the flow of energy between various components of the environment.

i) ©| % JELA hi giam i)
ii) aTgAT o UyE-gvd gUUT o ¥ H Wgad el gquT o am fafau)

[1+1=2]
i)  Define magnification of lens.

ii) Write name of spherical mirror used as rear-view mirror in vehicles.

i) e R S wfem AR |
ii) <@ % oA g w emenfa R <t gfemat & am fafag)

[1+1=2]
i)  Define electric potential difference.

ii) Write names of any two devices based on Joule's law of heating.

1203
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11
Sruft srm # TR i R & @A & TR S il [2]

Derive the formula for the combination of three resistors connected in series.

11) v Fregw wRoed § e frem wlnE (Suei) @ e (i) g § i @ 27

iZ)

13)

: [2]
Why are the household electric circuits, the electric appliances (instruments)
connected in parallel combination?

-

) A = amge (aEt gr) Fam fafaa)
i) foega Y Sor = aRenfia Hif)

[1+1=2]
i)  Write Fleming's left-hand rule.
ii) Define electromagnetic induction.
ST qun Feua Ft aiwiiva St [1+1=2]

Define roasting and calcination.

14) f=fofRan i & mo vdaia Ht gamais aftfrmet & vgferm adte fofag -

[1+1=2]
i) Na
ii) 443K dmAE @ 9@g H, SO,
Write the balanced equations of chemical reactions of ethanol with following
reagents -

i) Na
ii) Concentrated H,SO, at 443K temperature

15) @A 6 e v o Rt iR [2]

16)

S-07-Science

Draw the micelle structure of soap.

Jeigd & tEs g Ht awEet| [2]

Explain Newland's law of octaves.

1203
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SECTION - C
R IS -9 W& 17 | 20 & I IR & R | (g e 100 yTe2)

Long

answer type question-Write the answers of (question number 17 to 20 in
answer book (Word limit 100 words)

17) swewm | wnfad g & 3w qer 2t o fofan) [1+2=3]

Write the name and two functions of the hormone secreted by ovaries.

18) wwSTd va wwEy 3 @ g fifd) [1Y2+1Y2=3]

Define homologous and analogous organs.

19) i) an fenfeam =4t vt 8 2 2 T |
i) @@ % dha (Reer) @ o % =i v 3

[2+1=3]
1)  Why do stars seem to twinkle? Explain.

ii) Why are the danger signals red in colour?

20) Fr=feiad 7 | v = U Ierew 39 wween -
i) waeE afiem
i) T sl

[1V2+1V42=3]

Explain the following by giving one example of each -

i) Combination reaction

i1) Decomposition reaction

| 3
S-07-Science E
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SECTION -D

mm—mmzlﬁzsﬁmmﬁwﬁ%ﬁm(mzﬂmzsum)

Essay type question-Write the answers of question number 21 to 23 in answer
book (Word limit 250 words)

21) i) IEdE vaEA &t uieiya i)
il) WA YEEA T & A -AT AT
iii) THE Ya& o= ol ATHITRA o= a18u|
[1+2+1=4]
1) Define aerobic respiration.
1) Explain air - passage of human respiratory system.
i) Draw a labelled diagram of human respiratory system.
Faar/OR
i) urE R aftfua i)
i) W % UM § sries @ 6 it St awens)
iii) WA % TR @ (STERATA) Rt ST o6 iR o =g
[1+2+1=4]
1)  Define digestion.
if) Explain role of pancreatic juice in the digestion of food.
iii) Draw a labelled diagram of the structure of human alimentary canal.
S-07-Science 1203

| Turn Over



22) )

1)

23) 1)

1)

14
wmmﬁnﬁﬁmwmmﬁmﬁm%ﬂm&m@mmm
(F) m @ gy

afe wer el Tdor B e e l4cm%?ﬁ$‘ﬂ'€ﬁlm§ﬁmiﬁrﬁﬂu

[24+2=4]
Draw ray diagram for image formation by concave mirror when the object
is placed at its focus (F).

If the radius of curvature of a spherical mirror is 14 cm then find its focal
length.

Jrerar/OR

@mﬁaﬁuﬁﬁmmmaﬁm%@ﬁmm@,wﬁaﬁmﬁw%lm
R A

A T o R e + 2.5 D R, /@ 3w v i 7 A

[2+2=4]

Draw ray diagram for image formation by convex lens when the object is
placed between F, and 2F,.

If the power of a lens is + 2.5 D, then find its focal length.

Tt Yo il Hiy U Ige fatan|

A & THI H FEAST3ATFGS T hl TaTied o3 W i [A] &1 v -3rasy ava 2,
s 0 Tt W § REesaiiass T o Tanted e e o) uh Wt | frerastia

ugrd [B] s=a1 g | [A] @ [B] & vamafes g3 qen Rz wamafie sftfransii & i
foRau)

[1+3=4]
Write any one example of olfactory indicator.

White precipitate of compound [A] is formed on passing carbondioxide
gas in lime water, if excess quantity of the carbondioxide is passed in it

then a water soluble compound [B] is formed. Write chemical formulae of
[A] & [B] and equations of chemical reactions involved.
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gEt/OR
i) vg W« % pH wA faRaul

i) wifean wEre & T gRIEEiE e S Sitha § d@ifts [A] @Fa1 2 | [A] =
YR T i e § | [A] F wefa faermm o fagh st w0 ® Wi gegiamse
T 2 | [A] T vETafes am aen ffga e sfufrnat & g @)

[1+3=4]
i)  Write pH value of pure water.

ii) Compound [A] is formed by the reaction of sodium carbonate with
hydrochloric acid. [A] is also called as common salt. Sodiumhydroxide is
formed on passing electricity in aqueous solution of [A]. Write chemical
name of [A] and equations of Chemical reactions involved.

: R R
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